1)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The average number of students studying in all the five colleges (P-T) in the year
2018 s

1.3168

2.3138

3.3148

4.3388



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

it oiet geifgemedt (-1 & oY 2018 & g el & <iga d=m feadt 22
1.3168
2.3188
3.3148
4.3388

[Question ID = 11469][Question Description = 101_0_GP26_0CT22_S2_Q01]
1. 1 [Option ID = 15873]
2. 2 [Option ID = 15874]
3. 3 [Option ID = 15875]
4. 4 [Option ID = 15876]



2)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The number of students studying in College Q till 2020 is

1.2110
2, 2890
3.3090
4.3290



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

HeTida o H 94 2020 T@ TR @AYyl @1 Se fbad § ?
1.3110
2. 2890
3.3090
4.3290

[Question ID = 11470][Question Description = 102_0_GP26_0CT22_S2_Q02]
1. 1 [Option ID = 15877]
2. 2 [Option ID = 15878]
3. 3 [Option ID = 15879]
4. 4 [Option ID = 15880]



3)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The number of students:leaving is approximately ----- % of the number of students
taking admission in College Q from the year 2016 te 2021.

1.37

2.43

3.35

4.4



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

¥ 2016 T a4 2021 & B Helldeed Q Bie ard [aeydl &1 9%, Uds| o ard
Taeniifal ] dwe o1 Ty T aiaerd (%) 87

1.37

2.43

3.39

4. 41

[Question ID = 11471][Question Description = 103_0_GP26_0CT22_S2_Q03]
1. 1 [Option ID = 15881]
2. 2 [Option ID = 15882]
3. 3 [Option ID = 15883]
4. 4 [Option ID = 15884]



4)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

if M.and N represent the number of the students admitted in college S and Q frem
2017 to 2021 respectively, then M-N =

1. 830
2,750
3. 870
4,770



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

of% gy 2017 ¥ 84 2021 & did Helidencd S AR Q J Y99 o g jaanygl o1 g8
FOEMIRNGEIHAREITM-N=

1.830

2,790

3.870

4.770

[Question ID = 11472][Question Description = 104_0_GP26_0CT22_S2_Q04]
1. 1 [Option ID = 15885]
2. 2 [Option ID = 15886]
3. 3 [Option ID = 15887]
4. 4 [Option ID = 15888]



5)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The percentage increase inthe number of students studying in 2021 to that in 2016
is maximum for the college

1.8
2.p
3.1
4. R



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

G AL ola LA LA L la L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420{720. [450[790 |440i820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

gy 2016 @i fU&T 94 2021 H AWERG faeidnl @ dem 4 ufoen 9ig fow
HeTiaeey & fau siftean 4

1.8
2.p
3.1
4. R

[Question ID = 11473][Question Description = 105_0_GP26_0CT22_S2_Q05]
1. 1 [Option ID = 15889]
2. 2 [Option ID = 15890]
3. 3 [Option ID = 15891]
4. 4 [Option ID = 15892]

Topic:- 20_GP_110CT_SH2_S2_B

1) In which mode of learnirg, learners participate in active discussion and get
immediate feedback from the teachers?
1. Synichronous mode of learning
2. Asynchronous mode of learning
3. Spatial mode of learning
4. Relativist mode of learning



STH & (g UBR |, AHSal 9ithd Uigd] § Ge4F &l 6 iR [D&@] § @nd
WP s Sl 67

1. SH & TEdla® 9ER 4
2. HUTH & HTEHOD UPR
3. HUTH & =HF ISR §

4. STETH $ AUEARG] oK o

[Question ID = 11474][Question Description = 106_0_GP26_0CT22_52_QO06]
1. 1 [Option ID = 15893]
2. 2 [Option ID = 15894]
3. 3 [Option ID = 15895]
4. 4 [Option ID = 15896]

2) A child has learnt many things in his or her way with younger sibling by using
physical intimidation. if he/she uses the same tactics on peer, this indicates
1. Social learning
2, Assimilation
3. Equilibrium
4. Accomodation

BIE GO RIS SREY 7 UE 53¢ AU B2 Uniad (Us-984) & 9 U
e 4 950 ORI 91 Oraal &1 4 98 39 9fad @1 WO 30 YeU! & O S 8,
1. HHID HERH
2. STHFTHI
3. FrE
4, GHA

[Question ID = 11475][Question Description = 107_0_GP26_0CT22_52_Q07]
1. 1 [Option ID = 15897]
2. 2 [Option ID = 15898]
3. 3 [Option ID = 15899]
4. 4 [Option ID = 15900]

3) if a teacher neads to prepare a small animated video related to his/her topic of
teaching which softwares will be appropriate?

A, Mind Mapping tools

B. Animaker

C. Goegle Document

D. Pawtoon

E. Polleverywhere

Choose the correct answer from the options given below:,

1.A and D only
2.A Cand Donly
3.B, D and Eonly
4.8 and D only



ofg frd e o o E © Geftd fdl oy wide © Tl difsal oun &
@ HITREH 6l I, HFifd § § HH-4 Hiteddr 3uged gii?

A HISS JIUT eo
B, THHE

Jid Tou e fadedl 5 O U6l 9 9 -

1. HEFAARD
2. FEAA CIHRD
3. FHaA B, DIARE
4. FEAB AR D

[Question ID = 11476][Question Description = 108_0_GP26_0CT22_S2_Q08]
1. 1 [Option ID = 15901]
2. 2 [Option ID = 15902]
3. 3 [Option ID = 15903]
4. 4 [Option ID = 15904]

4) Given below are two statements

Statement I: Drupal is a paid software that enables users to upload content to
server.

Statement II: Joomla is a free and open-source content management system,

In light of the above statements, choose the most appropriate answer from the
options given below

1. Beth Statement | and Statement Il are correct

2, Bath Statement | and Statement |l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

HYF - | : gUT UP Gu WIUeaiR () § ol [ SudnTdaiel @1 et IR Siadg
(FvTar) 3uas o | gaE S Bl

HY - 1| ; I U H:2e® AR Had-Hid Haatd we = WO ol
Iulad YA & HEi® 4 FREfdRad [l H 8 el 3w 9 -

1.@YT I ARG S8l e
2. Y AR 1 GHITTEd 8
3. FYF | FEl 5, dip HYA | TTad 8
4 FYF A6, i BYA 1| T8l B

[Question ID = 11477][Question Description = 109_0_GP26_0CT22_52_Q09]
1. 1 [Option ID = 15905]
2. 2 [Option ID = 15906]
3. 3 [Option ID = 15907]
4. 4 [Option ID = 15908]



5) Match List | with List II

List . .
. List Il (Domains)
(Organizations)
I. Gut of Schoel Children Edueational
ALNITTTR
Programmes
Il. Engineering UG and PG Degree
B. CEC 2 9 d
Programmes
lll. Non-Technelegical Undergraduate
C. NPTEL
Degree Programmes
D. NIos IV. Teacher Training Programmes

Choose the correct answer from the options given below:

T.A-IV,B=-1,C-1l, D=1l
2Z2A-1ILB-1LC-1],D-1
SA-IVB-II,C-1I,D~1
4 A-1ILB-1,C-1IV,D-1

T -1 B3 -1 g P ;

O - (@) [ - (i)
A T 35 4 8 ). o @ Tt 9o © d8fte 2R sen
IR ()
TS I geiitaieT § defta g ug dien e U
' (@)

cTuMdTTg | IRENE! et st Sl s
D.UA G A TH v, Riares uiamn umme
1T.A-I,B=1,C-1II, D-II

2.A-1I,B=-1I,C~I, D-IV

3.A-IV,B=-1Il,C-1l, D=1

48-1,B=1,C-1V, D-1I

[Question ID = 11478][Question Description = 110_0_GP26_0CT22_52_Q10]
1. 1 [Option ID = 15909]
2. 2 [Option ID = 15910]
3. 3 [Option ID = 15911]
4. 4 [Option ID = 15912]

6) An empirical counterpart of a concept is called
1. Construct
2. Definition
3. Hypothesis
4. Variable

SGYRUN & HIHIdD Ul &l ol Ped o7
1. FfER
2. givHrET
3. @
4. TR

[Question ID = 11479][Question Description = 111_0_GP26_0CT22_S2_Q11]
1. 1 [Option ID = 15913]



2. 2 [Option ID = 15914]
3. 3 [Option ID = 15915]
4. 4 [Option ID = 15916]

7) The notion of categorical imperatives is a

. Fragmented norm
. Social distinction
3. Moral law

4, Situational ethic

FRUg 5T (Feiied gERicen) ®f SGURM & -
1. I HH S
2. grTfere fafRpdr
3, 9% fafy
4. gRRTag Hifaems

[ -

[Question ID = 11480][Question Description = 112_0_GP26_0CT22_52_Q12]
1. 1 [Option ID = 15917]
2. 2 [Option ID = 15918]
3. 3 [Option ID = 15919]
4. 4 [Option ID = 15920]

8)  Which of the following are the means of contro! in experimental research?
A. Controlling Physical Settings

B. Choice of participants

C. Statistical analysis

D. Focussing en Short-term effects

E. Sidetracking the causal factors

Choose the correct answer from the options given below,

1.4, Band Conly
2.B, Cand D only
3. C, D and E only
4. A DandEonly

Frafafes & @ $19-8 Wi o ¥ FeEe & e &
A. it ufaay @ @i Fafa s

B. TeyIfEl &1 gig

C. Tifensiy e

D. GBI WHIE! B EH disd B

£, SR Gatl gea! o1 gelfey

T Rr e e d g aw

1. &HaT A, BARC
2. FHaE B, C AR D
3. %A C, DARE
4 FAAA DIARE

[Question ID = 11481][Question Description = 113_0_GP26_0CT22_52_Q13]
1. 1 [Option ID = 15921]



2. 2 [Option ID = 15922]
3. 3 [Option ID = 15923]
4. 4 [Option ID = 15924]

9) Given below are two statements
Statement I: Research questions are used more in studies that do not focus on the
statistical significance of results;

Statement II: Research questions normally dominate the exploratory studies.

In light of the above statements, choose the correct answer from the options given
below

1. Both Statement | and Statement Il are true
2, Bath Statement | and Statemerit 1| are false
3, Statement | is true but Statement || is-false
4, Statement | is false but Statement [ is true

YT - | ; Y U & IUENT U =gl S fea widl & o 9ol & gieasiy
Hed W Bi5d 8l o

FYT - || : TTY T FEFGT: SUUES a3 HiUS Agaqu sd 8|
IULad DYA| & HdiD H HHiiaa [abedl H § Hol 9tk 9 -

1L@Y | AR ST g

2. FYF | AR | G 9T 8

3. FHYF | 9§, dio- &Y || g 8
4 FYF| HEAE, TP ®Y 11 gI 8

[Question ID = 11482][Question Description = 114_0_GP26_0CT22_52_Q14]
1 [Option ID = 15925]
2 [Option ID = 15926]
3 [Option ID = 15927]
4 [Option ID = 15928]

AN wN -

10) Given below are two statements, one is labelled as Assertion A and the other
is abellied as Reason R.

Assertion A: The effects of history in a social research study can be fatal.

Reason R: Various events-that occur during a study may not affect the opinions and
attitudes-of respondents;

In light of the above statements, choose the most appropriate answer from the
options given below;

1. Both A and R are carrect and R is'the correct explanation of A.
2. Both A and R are correct and R is the correct explanation of A.
3. A'is correct but R is not correct.
4. A is not correct but R iscorrect.



T w5 RUTE R : T @1 M@ (4) 3R GWR @ $RY (R) g1 M &l
HTGHYA (A) : GrEIIS =Y 8- H 3iaery & UYE 99 ol 9Fd 8l

RO (R) : B 9 & GRA §H arell A vesl ¥ Swarae @ 19 #R
Hftafoat guifad 8l 81 Gadi 6 |
UL DYA| o HdiD H HHlied lddedl H 4 Gel 3w 9 ;

1.A 3R R G 981 & 3TR R, A1 98 sArET &

2. A 3R REF G981 €, Tfd1 R, A T 9ol TRA 6l ol

3. A¥8l g, dfth R Tl o) Bl
4. A 98I T8l g, Tid- R 9ol Bl

[Question ID = 11483][Question Description = 115_0_GP26_0CT22_52_Q15]
1. 1 [Option ID = 15929]
2. 2 [Option ID = 15930]
3. 3 [Option ID = 15931]
4. 4 [Option ID = 15932]

11) Communicative power is meaningful only in the network of
1. Saocial relations
2. Ethical resistance
3. Restrictive freedom
4. Political oneupmanship

T Wifea Saa Hgifed Seas & adE el 5
1. TS GeY
2. JifceTa ufeRTe
3. NS Sdadl
4, To-ToE I

[Question ID = 11484][Question Description = 116_0_GP26_0CT22_S2_Q16]
1. 1 [Option ID = 15933]
2. 2 [Option ID = 15934]
3. 3 [Option ID = 15935]
4. 4[Option ID = 15936]

12) Referential framing connects communication media with
. Fantasy world

. Reality

. Self-regulation

[ -

P S

. Morality disruptions

Ya1e =u-fgie SdaRr grey @f Hyifea 2 O [egd oiedl a7
1. B ST
2, gy
3. A -faEgEE
4. e Ey

[Question ID = 11485][Question Description = 117_0_GP26_0CT22_52_Q17]
1. 1 [Option ID = 15937]
2. 2 [Option ID = 15938]
3. 3 [Option ID = 15939]
4. 4 [Option ID = 15940]



13) The key features of the interaction medel of communication are:
A It isatwao-way process,
B, The physical context of communication is unimpaortant.
C. The psychological context of communication is always taken into account.
D. Feedback is not & response to the message raceived.
E, It is less message-focussed.
Choose the correct answer from the options given below;

1.4 Band Conly
2.8, Cand D only
3.A CandE only
4.C, D and Eonly

Tm & e e oyl o g fadman 2
A. T8 3+ fexita ufsar g1

B. HUwYr &1 1ifgs o Heaydl Tdi 81

C. GUYT & FHIaRE 96y TR Hed [agR @4l a g
D. HfcTgi® TGl e &1 Uk el & |

E. T8 3U&TPd I HeW-disd oidl o

TR e d W aw I

1. HEAABARC
2. $HaE B, C AR D
3. FadA, CHRE
4 FEAC, DHARE

[Question ID = 11486][Question Description = 118_0_GP26_0CT22_52_Q18]
1. 1 [Option ID = 15941]
2. 2 [Option ID = 15942]
3. 3 [Option ID = 15943]
4. 4 [Option ID = 15944]

14) Given below are two statements

Statement |: In communication, codes have never been neutral in their reception,
Statement |I: Codes always represent meanings, reflecting partiality,

In light of the above staterments, choose the correct answer from the options given

below
1. Both Statement | and Statement |l are true
2. Baoth Statement | and Statement || are false

. Statement | is true but Statement || is-false

P

. Statement | is false but Statement [l is true
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[Question ID = 11487][Question Description = 119_0_GP26_0CT22_52_Q19]
1. 1 [Option ID = 15945]
2. 2 [Option ID = 15946]
3. 3 [Option ID = 15947]
4. 4 [Option ID = 15948]

15) The sequence of common elements in the field of experience as related to
commuriication and identified by Wilbur Schramm is :
A, Values

B. Language

C. Attitudes

D. Beliets:

E. Culfure

Choose the correct answer from the options given below

CABCDE
LB, ECDA
.BLADEC
.CDEAB

[ —"

P

TaR © Haftd 3fyd & 47 § AR (ot wpH g
fafed oo ol @ S0 b

A TH

B. HTST

C. ffafrdl

D. HFay

E H@Bia

I feu e foped § S 98 S 9
1.A.B,C.D,E

2.B,ECDA

5BADEC
4 CDEAER

[Question ID = 11488][Question Description = 120_0_GP26_0CT22_52_Q20]



1 [Option ID = 15949]
2 [Option ID = 15950]
. 3 [Option ID = 15951]
4 [Option ID = 15952]

A wnN =

16) if A's income is 40% less than B's income, thern how much percent is B's income

more than A's income?

1.65.66
2. 64.66
5. 66.66
4. 55.66

ofG A @] 3T B @ 0 © 40% T &, dl B B A A B 3@ 4 Fad Uoza @
Bz

1.65.66

2. 64.66

1. 66.66

4.55.66

[Question ID = 11489][Question Description = 121_0_GP26_0CT22_52_Q21]
1. 1 [Option ID = 15953]
2. 2 [Option ID = 15954]
3. 3 [Option ID = 15955]
4. 4 [Option ID = 15956]

17) Consider the numbers a, b, € and d with values 54, 71, 75 and 99, respectively. Find a

number which may be subtracted from each of them such that '—; =

A1 7P a, b, c 3 d G731 & HHI: 37 914 54, 71, 75 A 99 &
g8 YBIT i Siferg fordl Tde Sl Y uem e ol ¢ = 5 W8l

[Question ID = 11490][Question Description = 122_0_GP26_0CT22_S2_Q22]
1. 1 [Option ID = 15957]
2. 2 [Option ID = 15958]
3. 3 [Option ID = 15959]
4. 4 [Option ID = 15960]

18)  Find the next term in the series given below -
6, 13, 27,55, 111, ?

N -
R
(=]
o

o
[
[
P



J<1 €1 718 e F ST UE 919 Siiod ;
6,13, 27,55, 111,17

1.233
2,166
3.223
4,222

[Question ID = 11491][Question Description = 123_0_GP26_0CT22_52_Q23]
1. 1 [Option ID = 15961]
2. 2 [Option ID = 15962]
3. 3 [Option ID = 15963]
4. 4 [Option ID = 15964]

19) The average weight of 15 men is decreased by 2 kg when one of them whose weight
is 70 kg is-replaced by a new man. What is the weight of the new man?
1.35
2.45
3.38
4.40

15 Sfgaal & ahﬂﬁaﬁ:rﬁﬁiimﬁ_mamﬁfwmﬁaﬁl TH 4 Afed
BRI UaRiud @3- W 2 foo1 92 =i g1 o1 74 oaied @7 g9 [dea el

1.35
2,45
3.38
4.40

[Question ID = 11492][Question Description = 124_0_GP26_0CT22_S2_Q24]
1. 1 [Option ID = 15965]
2. 2 [Option ID = 15966]
3. 3 [Option ID = 15967]
4. 4 [Option ID = 15968]

20) Simple interest on a certain sum of maney at the rate of 5% per annum for 4 years is
Rs. 800. What will be the compound interest an the same sum for the same period
and at the same rate of interest?

1. 850

B840

B35

B62

]

B

fopdlt e <1 OR 5% a1fte 0T o O3 4 961 o feie TTRY] 34719 Rs. 800 & | I
IR 7 ST Haf SR I ST &) OX Ibdig SaTel fa-l iz

1.850

2.840

3.855

4,862

[Question ID = 11493][Question Description = 125_0_GP26_0CT22_S2_Q25]
1. 1 [Option ID = 15969]
2. 2 [Option ID = 15970]
3. 3 [Option ID = 15971]
4. 4 [Option ID = 15972]



21) Which of the following statements are sub-contraries]
&, All nurses are caring human beings.

B. Nao nurses are caring human beings.

C. Some nurses are caring human beings.

D. Senie nurses are not caring human Beings,

Choose the correct answer from the options given below;

1. A and B enly
2. A and D only
3. B and C only
4. Cand Donly

Faifea 5 43 4§97 Su-lauia® a7
A. G 9 TW-E@ Hae] H1E Bl 8
B.@1% Wl 7% SE-@ SE-ardl Hd e 81l 81
C. BB 79 oE-18 HHdE TFE gl gl
D. P& 4 GE-1E SHEar 74 el oidi 8
Tafu e faea d G Wi sw g

1. 9a0 A 3R B

2. @ad A R D

3. @aAE AN C

4. WA C AN D
[Question ID = 11494][Question Description = 126_0_GP26_0CT22_S2_Q26]
1. 1 [Option ID = 15973]
2. 2 [Option ID = 15974]

3. 3 [Option ID = 15975]
4. 4 [Option ID = 15976]

22) |dentify the formal fallacy committed in the following argument;

"All communists are revolutionists. All anarchists are revolutionists. Therefore, all
anarchists are revolutionists.”

1. the fallacy of the undistributed middle
2. The existentialist fallacy

3. llicit major

4. Nicit minor

g ofa o sieiie oo a8 @ 9e414u ;
i Gl HiapRl 8 8l 94l sR@aigal Hia@Rl eid &l 39eg g
RSB AEG] BIaeRI sl al”

1. fsifanivd ver & gaey
2. dfETaare! adaN

3. Y UHE UG

4. HGY T UG



[Question ID = 11495][Question Description = 127_0_GP26_0CT22_S2_Q27]
1. 1 [Option ID = 15977]
2. 2 [Option ID = 15978]
3. 3 [Option ID = 15979]
4. 4 [Option ID = 15980]

23) Which of the following statements are logically equivalent?
A NoSisP

B.NoPisS

C. All S are non-P

D. All non-P are non-S

E.No'S is non-P

Choose the correct answer from the options given below;

1.4, Cand D only
2.4 Band Conly
3.B, Cand D only
4 A B CandDonly

Foifd 4 S @M § @ diide elP 4 §aqeg 6 7
A ®ISS, PRI B 5|

B, 1% P, S TEI &I 81

C. 94 s, TR-P Bl B

D. gHITR-p, RS B &1

E @15 His, TR-p A2 Bl B

el Tou e fawed| | § wEl S g

1.5ad A, C3RD
2. TAAA,BARC
3. %HaE B, C AR D
4 FHATA, B CIRD

[Question ID = 11496][Question Description = 128_0_GP26_0CT22_52_Q28]
1. 1 [Option ID = 15981]
2. 2 [Option ID = 15982]
3. 3 [Option ID = 15983]
4. 4 [Option ID = 15984]



24) Which of the follewing steps of inference state(s) the reason for the establishment of
the propesition according to the Classical Indian Schosol of Logic?

A. The hill has fire.

B. Because it has smoke,

C. Whatever has smoke has fire e.g. oven,

D. This hill vas smoke which is invanably associated with fire,
E, Therefore this hill has fire.

Choose the correct answer from the options given below;

. Conly
.Dand E only
. B only

o -

.C and D only

[ufafad s9aM @ @F 97 4 90 HRO™ O & H6R, dJoaied @] W] &
BN & Feoid P b -

A TUBTEl H 3 B
B, T SO Y2l B
C. =751 ®e] U1 43 il &, 96l A BIal 8, SaIetuNY deel
D. 39 UeTS! § 431 & 9 FHevarae: o ¥ Uss s s
£, 39T sH UEEST & A 2
i fgu e fawed & € 48l IR 94

1. @ad C

2.%au D IR E

3, Had B
4, BT C XD

[Question ID = 11497][Question Description = 129_0_GP26_0CT22_52_Q29]
1. 1 [Option ID = 15985]
2. 2 [Option ID = 15986]
3. 3 [Option ID = 15987]
4. 4 [Option ID = 15988]



25) Given below are two statements
Statement |: Indian Logic makes a distinction between deduction and induction,

Statement II: [ndian Lagic studies thought as such and not the forms of thought
alane,

In light of the above staternents, choose the correct answer from the options given
below

1. Both Statement | and Statement || are true
2. Both Statement | and Statemenit |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

Jeg ey Rum g,
TYF - | : URO 2R 3 e SiR 39 & 79 fais [ear s g

WY - || - YR T J e fowad @ 39ES 51 @l € 7 @ oad dad &
HHRT BT

ST DY & HITI® 4 FHiead (9ol 4 vel g g

1.7YF AR eI Tg &

2. YT | AR I Gl 3 EE B

3. FY | IO T, AfbT oY 1| 3T 2
4 Y| FTA L, T YT 1 TGI8

[Question ID = 11498][Question Description = 130_0_GP26_0CT22_S2_Q30]
1. 1 [Option ID = 15989]
2. 2 [Option ID = 15990]
3. 3 [Option ID = 15991]
4. 4 [Option ID = 15992]

26) A teacher has created a spredsheet of test marks of five students. She has written a
formula =HLOOKUP(B4, $DS&1; 8K52, 2) in cell C4 and copies this formula from cell c4
to the range C5:C8 What values will be returned by the formulae in the range
C4:C87

3 B C DEFIGHN I |k
9(27|33/40/47

fry
o |
b
pury
=
=y
w0

2

3|Name |Marks
4|Anil 43 =HLOOKUP(B4, $D51: $K582, 2)
5|Amit |85
6
=
8

Varun |25
Anita |20
Harish |10

1. A € & G and F. respectively
2.B,C, E Gand U, respectively
3.A, C E Fand U, respectively
4. B, A C Eand G, respectively



uw e 4 Urd faeniial & odign siel @1 $SUiie ouR @1 99 Sisgic § ¢4 9
H U@ I =HLOOKUP(B4, SDS1: $K$2, 2) [EraT IR 38 93 @l 99 (4 Y C5:C8 BI o A
Bl [aT1 39 c4:ca H @ Y BH 4 3F FH b 811 7

A B [€ DEEIF |G H |l
0(9]14[19(2733/40147
UGF [E D |C

=
~

(==
I

HAT 43 |=HLOOKUP(B4, SD$1: SKSZ, 2)

B[ o [0 &= [ W][r]=
73]
LA

B (10
1.59% A CEGIARE
2. 599 B, G, E G 3R U
3.3 A CEFIIRUY
4. P B A CEIRG

[Question ID = 11499][Question Description = 131_0_GP26_0CT22_52_Q31]
1. 1 [Option ID = 15993]
2. 2 [Option ID = 15994]
3. 3 [Option ID = 15995]
4. 4 [Option ID = 15996]

27) In Microsoft Office Powerpoint, ‘Smartart' provides predefined sets of diagrams for
users to use. Which of the following are types of diagrams provided by the Microsoft
Powerpoint Smarthrt feature?

A, Layer

B. Process

C. Hierarchy

D. Cycle

E. Relationship

Choose the correct answer from the options given below;

1. A, B, Cand Donly
2.B,C, DandE only
3. C and D only

4 A BandDonly



AEHigGe AipbY Uil @R §, §) A1 Edsl & g & o SEE @l
gasiRa 99 WelH &l ol FMEfkiad § 4 HIShNiR gl wige |ie Je
9 g1 Uad SI9UE & R & 4 87

A TRd TR)

B. Uiehd] (WrG9)

C. UGH&H (EH®)

D. TP (Gigid)

£, Hay (Rarmfam

i fou e famed 3 G e ST g -

1.BEAA, B, CHR D
2. 399 E, C, D IARE
3. HadCcARD

4, HIAABARD

[Question ID = 11500][Question Description = 132_0_GP26_0CT22_S2_Q32]
1. 1 [Option ID = 15997]
2. 2 [Option ID = 15998]
3. 3 [Option ID = 15999]
4. 4 [Option ID = 16000]

28) Which of the following storage media from the list A-E given below are optical
storage media only?
A, DVD RAM

B. Pen drive

C. Magnetic tape

D.SSD

E. Blue-ray disc

Choose the correct answer from the options given below;

1.B, Cand D only
2. Aand B enly
3. Dand E only
4. A and Eonly



i 31 T gl A-£ | Fafoiad @ O S9e0 Hilsdl had iHikie adsu Hisdl 8 ?
A SETSIH

B, U 3154

c. dsag ey

D. THTHS!

E = e

i fgu e fased| 5 € 981 Sw g

1. Had B, C AR D
2. HaA A AR B
1. FHEAD ARE
4 FAAAHRE

[Question ID = 11501][Question Description = 133_0_GP26_0CT22_52_Q33]
1. 1 [Option ID = 16001]
2. 2 [Option ID = 16002]
3. 3 [Option ID = 16003]
4. 4 [Option ID = 16004]

29) Which of the following are examples of fraudulent use of the Intermnet?
A, Blogging

B. Booking a cinema ticket

C. Pharming

D. Phishing

Choose the correct answer from the options given below;

1. A and B enly
2. Cand Donly
3. B and C only
4. Aand D only

$TX-E o SAgu TN & JaTetyl HEigd § ° @ | 87
A ST
B, U o491 fede g0 ool

C, PITET (GER Bige / GIfedd? 4 Mu-1g €9 4 sgard ®1 4y

D. fFRI @Ge3-c & wres 9 @il @1 giar o)

I fgu e fased| | € 98] IR g9 ;
1. 5ad A B
2. HEACIARD
3. Hadeelc
4 FHaA A AR D

[Question ID = 11502][Question Description = 134_0_GP26_0CT22_52_Q34]

1. 1 [Option ID = 16005]
2. 2 [Option ID = 16006]



3. 3 [Option ID = 16007]
4. 4 [Option ID = 16008]

30) Match List | with List 11
List | (Input Device)|List Il (Use)

A, Graphics Tablet |l To input data at an information kiesk

B, Touch Screen Il. Te input data from & product in a supermarket (at a POS)
. Bar Code Reader |lIl. To input a BIN

D. Numeric Keypad |IV. To input freehand drawing

Choose the correct answer from the options given below:

TA-WB-ILC-[,D=II
2A-NILEB-I,C-|,D-1V
s A-LB-IV,C-1I,D-]l
4 A-IVB-1,C-1I,D-1I

Tl - @l g -1 | g S

" gt g
%ﬁg mm@gﬁdif&mﬁmmalctﬂﬁ%ﬂmﬁ%ﬁm
II. GUR Hbe (TS HISE W) § &9 3AE ¥ 51
. R @18 s |1, o7 3o & fore
%waﬁ v, T Rl B & g

=it feq e faeedl H € W61 9w g

TA-WB-I,LC-1,D=II
2Z2A-NLB-ILC-I, D-IV
3.A-LB-IV,C-1I, D=1
4A-IV,B-I,C-1I, D-]lIl

[Question ID = 11503][Question Description = 135_0_GP26_0CT22_S2_Q35]
1. 1 [Option ID = 16009]
2. 2 [Option ID = 16010]
3. 3 [Option ID = 16011]
4. 4 [Option ID = 16012]

31)  Over the past 100 years, the estimated rise of global sea level is by 10 - 25 cm or
more. Which one of the following has maximum contribution in it?

1. Thermal expansion of ocean waters
2. Glacier and ice- cap melting
3. Greenland ice sheet thinning

4. Terrestrial water storage changes due to human activities



faTa 100 a6l 7, S w9z 99 7 10-25 941 91 39 e &1 9is Sisfod @1 715 8|
39 9iE | Fefaied § | e greH galiue 87

1. AETENRIG o @ aiiig TER

2. [B9Ae IR feHea &l [o=e

3. FATS Pl SBicl Gd Bf a1He

4, AMAIY FEGEM] @ BRY gl od 9994 1 gacd

[Question ID = 11504][Question Description = 136_0_GP26_0CT22_52_Q36]
1. 1 [Option ID = 16013]
2. 2 [Option ID = 16014]
3. 3 [Option ID = 16015]
4. 4 [Option ID = 16016]

32 A ; ;
) Aerstion process is efficiently used to remave

1. Persistant Organic Pollutants
2. Volatile Organic Compounds
3. Metals

4. Inorganic ions

FaTaiea 9 © ol ger @ [T aiad wisha &1 Gaiaigd® qanT il sl 82
1. Favedl sEF® uge®
2. STEE SreH® DS

o

I
4, FFEAD AT

[Question ID = 11505][Question Description = 137_0_GP26_0CT22_S2_Q37]
1. 1 [Option ID = 16017]
2. 2 [Option ID = 16018]
3. 3 [Option ID = 16019]
4. 4 [Option ID = 16020]

33) What is the correct order of Risk assessment due to exposure of some chemicals to
the humans
A, Dose Response Assessment

B. Exposure Assessment
C. Risk Characterization
D, Hazard Identification
Choose the correct answer from the options given below

CABCD
OB CA
.G DA B
DA B, C

[ -

P



qal H o WHEEl & IR & GieH-He0d 51 Hal HIEH FHidigd 3 9 ®iF g
&

A TP 3T SHida

B, TETH 3o

C. SiITEH -5

D. ¥4 & UgdH

i fgu e faeed| 5 9 el S g

ABCD
0BG A
LG DA B
DA B, C

1,5

S ]

[Question ID = 11506][Question Description = 138_0_GP26_0CT22_S2_Q38]
1. 1 [Option ID = 16021]
2. 2 [Option ID = 16022]
3. 3 [Option ID = 16023]
4. 4 [Option ID = 16024]

34) National Disaster Management Authority (NDMA) works under the aegis of
1. Ministry of Earth Science (MoES)
2. Ministry of Home Affairs (MHA)
3. Ministry of Environmental Forest and Climatic Change (MoEFIC)
4, Department of Space- Indian Space Research Organisation ([ISRO)

AP HUE] YA UITYeRTl (GTS1eAY) Mafciad 4 4 fus qaieyF 3 & @xd &

1. g fas Haed (Enaiee,

2. 7[g HAITHY (THEY)

3. g9iaYul 94 UF Sioarg giNad- Sed (EEesuna)
4, A faur - yRdig Saie IEyE 96T G99)

[Question ID = 11507][Question Description = 139_0_GP26_0CT22_52_Q39]
1. 1 [Option ID = 16025]
2. 2 [Option ID = 16026]
3. 3 [Option ID = 16027]
4. 4 [Option ID = 16028]



35)  Which of the following statements are correct in this context of energy crops ?
A. They are fast growimg plants
B. They require specific season to grow
C. They necessarily require fertile land to grow
D. They tan be cenverted into gaseous and liquid fuel
E. They generally have high calorific value
Choose the correct answer from the options given below;

1.4, Dand Eanly

2. A B Cand Donly
3.8, C, Dand E only
4.C, D and Eonly

Feligrdl BHT b HaH A FaEfiad ouHl F P 4 ¥l 6 ?

A, 9 dofl @ 954 a1 URU B

B. 3 i o [o¢ 1a9IY Hd & Havadhal sial 8

C. 3% gfs & fou s1esoe w0 9 3@ uffy & snamaar
gt 81

D.d 3¢ U/ ok TXa 39 § Suiafid &l 9@ o

E. GTHIT: 3] el 91 HiS BT e

Jrd R e fapadl 4 W8 S
1. 690 A DARE
2. Fad A, B, CARD
3. @98, C, D3IRE
4 FaECDANE

[Question ID = 11508][Question Description = 140_0_GP26_0CT22_S2_Q40]
1. 1 [Option ID = 16029]
2. 2 [Option ID = 16030]
3. 3 [Option ID = 16031]
4. 4 [Option ID = 16032]

36) The National Knowledge Commision recomended the establishment of
1. 50 National Universities
2. 50 technological universities
3. 50 universities of science education
4, 50 universities of yega and naturopathy

P T A | FEiEd J 9 ey @ e ol e e 2

1. 50 ¥ fayfaeey

2. 50 Uiy faufaees

3. 50 fagm [N faxfaeaa

4. 50 TR AR Wipid® (did faxfaerey



[Question ID = 11509][Question Description = 141_0_GP26_0CT22_S2_Q41]
1. 1 [Option ID = 16033]
2. 2 [Option ID = 16034]
3. 3 [Option ID = 16035]
4. 4 [Option ID = 16036]

37)  According te UGC, which of the following are objectives of comunity colleges ?
A, To provide skill based education to the students of higher education.
B, To make higher education relevant to the learmer and communities,
C. To provide vertical mobility for pursuers of higher education,
D. To open vistas of employment.
E. To train youngsters in traditional skilll sectors:
Choose the correct answer from the options given below;

1.A B, Conly
2.8, C, Donly
3.C D Eonly
4 A D Eonly

fasfaed sEaE UM & R s Aeiagedl & 3w Feffgg 7 9
THET B

A. 3= g & faenfifat o s s e ueH &3

B, I f2iaT &1 gl R Ugey & o e E

C. T 181 Wit e Tl faeidgl & foig SHeaier TMicRiicid war &3

D. TR & HIER GieH]

E. Ga13{] @I GRERETE SIEd &5 H Ui S

T e d d W T

1. BEAA BARC
2. HAAE, C HR D
3.®AAC, D ANE
4, HIAA, D AR E

[Question ID = 11510][Question Description = 142_0_GP26_0CT22_S2_Q42]
1. 1 [Option ID = 16037]
2. 2 [Option ID = 16038]
3. 3 [Option ID = 16039]
4. 4 [Option ID = 16040]



38) Given below are two statemeants

Statement 1: Skill based education is focused on the idea that it may be learned
better if it is practised in real life.

Statement Il: Non- conventional higher education is totally based on the teaching-
learning activities that are offered on campus with fixed - time classes.

In light of the above statements, choogse the correct answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
5. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

g e RumE.

T - | - BITE ARG R8T 59 e & &0 & 6 oft s opom orefas Siga
o fea ST g, O 39 9ol dud § 9l o Gedl gl

&Y - || ; IRURERS 3= e off ave e d9d4 Y ot w
renfea g & fore Ruiie-oma ® darfe ofH-9e sanef 8 1eH o s gl

Sulad yH! & e o FRufafad e § 9 98l S 3

.Y I AR NGAITT 8

2. FYT | AR G 2EE R

1. P G T, ofco ®YA || T 8
4. FUY| HEAE, OoI P47 11 I8

[Question ID = 11511][Question Description = 143_0_GP26_0CT22_S2_Q43]
1. 1 [Option ID = 16041]
2. 2 [Option ID = 16042]
3. 3 [Option ID = 16043]
4. 4 [Option ID = 16044]

39)  Which of the following ancient universities developed connaction with the viharas?
A, Nalanda

B. Valabhi

. Takshashila

D. Navadeep

E. Odantapuri

Choose the correct answer from the options given below;

1. A and C only

2. A, C and D only
3.A B Cand Eonly
4. A Band Conly



Fraifsd & & oo Wi feufdenerdl &1 i faerT & dey d gam
A e

B, FemiHl

c. defen

D.FggM™

E, 3igiagdl

e U e fased | € |81 SR 9 -

1. HEFAARC

2. FHEAA CIHRD
3. PaAA, B CHRE
4. FEAABHARC

[Question ID = 11512][Question Description = 144_0_GP26_0CT22_52_Q44]
1. 1 [Option ID = 16045]
2. 2 [Option ID = 16046]
3. 3 [Option ID = 16047]
4. 4 [Option ID = 16048]

40) Which of the ancient places of higher learning developed in connectien with
temples and became centres of community life in the places where they were
situated?

A, Benaras

B, Navadeep

C. Odantapuri

D. Kanchi

E. Jagaddala

Choose the correct answer from the options given oelow;

1. C and D only

2. A Band Donly
3. A and D only

4 A B CandEaonly



Freifea & 9 fia WeTos ook (W81 Seal @ WG A & 9y GauT & g3 3R
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1.HEACARD
2. FEAA BHRD
3. HaA A HRD
4. PATA, B CHRE

[Question ID = 11513][Question Description = 145_0_GP26_0CT22_S2_Q45]
1. 1 [Option ID = 16049]
2. 2 [Option ID = 16050]
3. 3 [Option ID = 16051]
4. 4 [Option ID = 16052]

Topic:- 20_GP_110CT_SH2_S2_C

1)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was interiwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude forny of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
thearies were formulated sesking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process to occur.
They should speed up the reduction of population growth by more dirsct means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asia. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between economic
growth and population contrel, They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations, Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it



What made the Malthusian views on population logk inevitable?
1. War on poverty
2, Proliferation of statements on population
3. unrefined empiricism
4. Justification on unrelated grounds

fArifera Terrw @1 ufdw 3T U ¥, 46 ¥ 50 F IS ST ;
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[Question ID = 11514][Question Description = 146_0_GP26_0CT22_S2_Q46]
1. 1 [Option ID = 16053]
2. 2 [Option ID = 16054]
3. 3 [Option ID = 16055]
4. 4 [Option ID = 16056]



2)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

IModels relating to different variables of demography formed the basis of

1. Population distribution

2, Attempts to create new population concepts,
3. Effects on poverty elimination.

4. Development policy formulation,
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2. 2 [Option ID = 16058]
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3)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

The western experience was that development would bring in

1. Racial equality

2. Decrease in population

3. The end of discussions on racism,
4, International focus on Asia.
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4)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

The new tone of academic discussion was related o

A, Economic growth and population control

B. Resource mebilisation and output

C. Racial factors and demography,

D. The pre-accupation of the west with population control.

Choose the correct answer from the options given below:

1.Aand B
2.BandC
3.Cand D
4. Aand C
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5)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

The passage, in the final analysis, suggests

1. A new scientific:management of population control.

2. The study of demegraphic dividends in the west.

3. The rejection of all previous studies on population control,

4. The linkage of racism, poverty and population with academic solutions.
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